Ergénze die fehlenden Steigerungsformen dieser Adjektive:

Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)
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Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

> => < am sichersten

> => < am schonsten

> => < am strengsten

> => < am flinksten

> => < am leichtesten

> => < am kaltesten

> => < am warmsten

> => < am teuersten

> => < am saubersten

> => < am langsten

> => < am frihesten

> => < am lautesten

> => < am schéarfsten

> => < am frechsten

(YN Y YYD YN O O O

Losungen
sicher > => < sicherer
schon > => < schoner
streng > => < strenger

flink > => < flinker
leicht > => < leichter
kalt > => < kalter
warm > => < warmer
teuer > => < teurer
sauber > => < sauberer
lang > => < langer
frih > => < friher
laut > => < lauter
scharf > => < scharfer
frech > => < frecher
tief > => < tiefer

> => < am tiefsten
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